3x[)=[]

1
3+ =
6




M2 2AAQ,

s
L

I—o]—

11:13




3. e AN ] wat el 5& ARt E 242 FoHA 2.

1:4=4:16




4.

Z|2o] 10ecm?Q] Y1} Yo 7l & At
Ol Jl29] dol7} 5em¥ W, 7= 2] Ao

e
-

cm

715

=

odll
_0.

i



5. T 9E94 =ol= 2 cm A FoFA L.




.4 .1 .8 .
®4*g @475 @47§ ® 4+

2
-

® 4+






8.  HIE glo] &2 AL ot v A oz YERfA L.

1:3 2:4 3:9 4:15

YR
=¥



9.

ghsol] whe] 2 w

5: 74U ot &

B K



10. &
= Y715l

B
BH

A~
N

@ A"



QU7

A7l thel kA W A o

o =
= &

11. o

o] 27)7} thg Ut

B
il

1

2 Wiy



1
2. o5 %97



13, Zol7t Jmql dlo] 7} e o)A @ BolA - mH 1

ohe, @ ol A whrol & 4 A&

N

@ 109 ® 119 ® 139 @ 159 ® 179



3 .1
5 -2
©51-%



15.

o] oM =0l T97kA] 72l 25.2km ©]aL, Stu7tA| 9] ARl =
28km YUt} S5t HolA mo] Fe7HA €] 7@l SturtA] 9
72]e] & HjQIA] kA L.

@© 744 @ 8Hj ® 8.5 Hj
@ 9 ) ® 9.5 b



16. the WAl F Bol 7P 2 2L ol AU

@ 1247 +29 @ 53.55+8.5 @ 7.56+2.1

@ 5544 =92.31 ® 2541 =12.1



17. WheAld] 32 45 BARE] 288 1 1 A E 2ohA e

21.419--0.75

YR
=%



18. t& 5 %o] oAl e 2 A

® 2.8+5.6 @ 46+04

@ 76 =1245 3 81 =108



19. oL AExp7F1 A7 30 & B¢t 132.5km S S35 T 1 AJ7HsSt
oF g km S g3 A1z ¥k ste] A4 B4 A 74| YERHA L.

aﬂio—}: km



20.

£

@ 5500 : 7500

@ 11:15

ol

L 3t 5500 YA A& st

AR o & AgeFe] vl E e

@ 110: 150

3 55:75

a)g ol 7500 Y A
wetA el A& 112 A]

@ 15:11



21.

g "



HEZE0] 8 em @l @3} oF #o Hol7t 14 em?l BAAE F o= 219
Hol7h o |2 F5kA L,

aa: o] go]



23. Wol7t slaem? Q] 9] WAL Lol T Q.

Qe e



cm?



o

Gl

@ el

Ayt

]

CRONG) ® 66

® o0

® O, 06

® O, O,



